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A (s.b) = Re A(s,b) +1Im A(s,b)

Re A(s,b) K Im A(s,b) —— a(s,b)

A (s,b) = i a(s,b)

Unitarity

a(s,b) = a’(s,b) + n(s,b)
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23rd Cracow Epiphany Conference on Particle Theory Meets
' the First Data from LHC Run 2







Where to go to
Why don’t you go

irving-berlin-taco-puttin-GHgth Where fashion sits...



Let's Do It urselbes !

Vs =50GeV
s = 50GeV

J Pin(s,b)
s =57TeV
Vs =57TeV




Listen, Do You Want to Know a Secret?
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Allen Rarl

Jt's Woo Early To Cryp...

Everybody thinks my head's full of nothin’,
Wants to put his special stuff in,
Fill the space with candy wrappers,
Keep out sex and revolution,

sutthere's no hole in my head

3 thank all the people for coming here

Malvina Repnoldsg
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